
CAR REPAIR STOOL
User Manual





01

This is the original instruction, please read all manual instructions carefully before operating. 
VEVOR reserves clear interpretation of our user manual. The appearance of the product shall 
be subject to the product you received. Please forgive us that we won't inform you again if 
there is any technology or software updates on our product.

CAR REPAIR STOOL
User Manual



02

PRODUCT DESCRIPTION

Technical Parameters

Brand

410*410*130MM

4.3KG

4.9KG

Package Size

Net Weight

Gross Weight

Standard Accessories

Serial Number

4

Quantity Icon

1

Project

M6*20 Splint Nut

Standard Accessories

Note: The pictures are for reference only, the specific product appearance and color are subject 
to the actual product!



 INSTALLATION AND USE INSTRUCTIONS

 1. Install the seat cushion, as shown in the figure below, use 4 screws M6*20 to connect the seat
      cushion and the support frame together.

04

2. You must remove the plastic cap off before instaling the liting pole to the seat.



04

2. Insert the gas spring into the seat cushion hole and the bottom tool plate 

 COMMON FAULT ANALYSIS

Fault Phenomenon

Loose nut

Cause of Issue Solution

Re-tighten the nut with a hex wrenchWheel off

UK Importer: FREE MOOD LTD
Address: 2 Holywell Lane, London, England, EC2A 3ET

EU Importer: WAITCHX
Address: 250 bis boulevard Saint-Germain 75007 Paris

EUREP UK LTD
UNIT 2264, 100 OCK STREET, ABINGDON 
OXFORDSHIRE ENGLAND OX14 5DH

UK REP

EUREP GmbH 
Unterlettenweg 1a, 85051 Ingolstadt,
Germany

EC REP

Manufacturer: Wuyi Sailing Leisure Products Co., Ltd.
Address: No.16 Shao Yang North Street WuYi City Zhejiang Province China.





E-mail: CustomerService@vevor.com



Manuel  d'utilisation

OUTIL  DE  RÉPARATION  AUTOMOBILE

Machine Translated by Google



Machine Translated by Google



Manuel  d'utilisation

ServiceClient@vevor.com

01

Vous  avez  des  questions  sur  les  produits ?  Besoin  d'assistance  technique ?  N'hésitez  pas  à  nous  contacter :

BESOIN  D'AIDE?  CONTACTEZ­NOUS!

RÉPARATION  AUTOMOBILE  ST00LVEVOR

VEVOR  se  réserve  le  droit  d'interpréter  clairement  notre  manuel  d'utilisation.  L'apparence  du  produit  doit
Il  s'agit  des  instructions  d'origine,  veuillez  lire  attentivement  toutes  les  instructions  du  manuel  avant  de  l'utiliser.

dépend  du  produit  que  vous  avez  reçu.  Veuillez  nous  pardonner  de  ne  pas  vous  informer  à  nouveau  s'il  existe  
des  mises  à  jour  technologiques  ou  logicielles  sur  notre  produit.

Machine Translated by Google



QuantitéProjet

Écrou  à  éclisse  M6*201 4

lconNuméro  de  série

Remarque :  les  images  sont  fournies  à  titre  indicatif  uniquement,  l'apparence  et  la  couleur  spécifiques  du  produit  sont  sujettes  à  modification.

VEVOR

plateau  à  outils

Poids  brut

Poids  net

Accessoires  standards

Paramètres  techniques

Accessoires  standards

02

4,3  kg

DESCRIPTION  DU  PRODUIT

4,9  kg

ressort  à  gaz­

coussin

Marque

Taille  du  paquet 410*410*130MM

VEVOR

roulette­

au  produit  réel !

Machine Translated by Google



2.  Vous  devez  retirer  le  capuchon  en  plastique  avant  d'installer  le  poteau  d'éclairage  sur  le  siège.

1.  Installez  le  coussin  de  siège,  comme  indiqué  sur  la  figure  ci­dessous,  utilisez  4  vis  M6*20  pour  connecter  le  

coussin  de  siège  et  le  cadre  de  support  ensemble.

04

INSTRUCTIONS  D'INSTALLATION  ET  D'UTILISATION

Machine Translated by Google



ANALYSE  DES  DÉFAUTS  COURANTS

Adresse :  2  Holywell  Lane,  Londres,  Angleterre,  EC2A  3ET

Écrou  desserré

04

Déroulement

Unterlettenweg  1a,  85051  Ingolstadt

Importateur  UE :  WAITCHX

REPRÉSENTANT  DU  ROYAUME­UNI

Fabricant :  Wuyi  Sailing  Leisure  ProductsCo,  Ltd.

2.Insérez  le  ressort  à  gaz  dans  le  trou  du  coussin  de  siège  et  dans  la  plaque  à  outils  inférieure

Adresse : No.16  Shao  Yang  North  Street,  ville  de  WuYi,  province  du  Zhejiang,  Chine.

REPRÉSENTANT  DE  LA  CE

Cause  du  problème

Importateur  britannique :  FREE  M00D  LTD

Adresse :  250  bis  boulevard  Saint­Germain  75007  Paris

Phénomène  de  faille

Resserrez  l'écrou  avec  une  clé  hexagonale

Solution

Allemagne

UNITÉ  2264,  1000  CK  STREET,  ABINGDON

EUREP  UK  LTD

EUREP  GmbH

0XFORDSHIRE  ANGLETERRE  OX145DH

Machine Translated by Google



Machine Translated by Google



Courriel :  CustomerService@vevor.com

Machine Translated by Google



AUTO-REPARATURSTOOL
Bedienungsanleitung

Machine Translated by Google



Machine Translated by Google



AUTOREPARATUR  ST00L
Bedienungsanleitung

VEVOR

VEVOR  behält  sich  die  klare  Auslegung  unseres  Benutzerhandbuchs  vor.  Das  Erscheinungsbild  des  Produkts  soll

Dies  ist  die  Originalanleitung.  Lesen  Sie  vor  der  Inbetriebnahme  bitte  alle  Anweisungen  im  Handbuch  sorgfältig  durch.

unterliegen  dem  von  Ihnen  erhaltenen  Produkt.  Bitte  haben  Sie  Verständnis  dafür,  dass  wir  Sie  nicht  erneut  

informieren,  wenn  es  Technologie-  oder  Software-Updates  für  unser  Produkt  gibt.

Kundenservice@vevor.com

Haben  Sie  Fragen  zum  Produkt?  Benötigen  Sie  technischen  Support?  Kontaktieren  Sie  uns  gerne:

BRAUCHEN  SIE  HILFE?  KONTAKTIEREN  SIE  UNS!

01

Machine Translated by Google



M6*20  Splintmutter

Projekt Menge

zum  eigentlichen  Produkt!

VEVOR

Kissen

Marke

Standardzubehör

Gasfeder-

Werkzeugablage

410*410*130  MMPaketgröße

Nettogewicht

Bruttogewicht

PRODUKTBESCHREIBUNG

4,9  kg

02

4,3  kg

Technische  Parameter

Standardzubehör

VEVOR

1

lconSeriennummer

Hinweis:  Die  Bilder  dienen  nur  als  Referenz,  das  spezifische  Aussehen  und  die  Farbe  des  Produkts  unterliegen

4

Zauberer-

Machine Translated by Google



INSTALLATIONS-  UND  GEBRAUCHSANWEISUNG

04

1.Installieren  Sie  das  Sitzkissen,  wie  in  der  Abbildung  unten  gezeigt.  Verwenden  Sie  4  Schrauben  M6*20,  um  das  

Sitzkissen  und  den  Stützrahmen  miteinander  zu  verbinden.

2.  Sie  müssen  die  Plastikkappe  entfernen,  bevor  Sie  die  Beleuchtungsstange  am  Sitz  anbringen.

Machine Translated by Google



EUREP  UK  LTD

Deutschland

EUREP  GmbH

0XFORDSHIRE  ENGLAND  OX145DH
EINHEIT  2264,  1000CK  STREET,  ABINGDON

Adresse:250  bis  boulevard  Saint-Germain  75007  Paris

Fehlerphänomen

UKImporteur:FREE  M00D  LTD

Ursache  des  Problems

Adresse:2  Holywell  Lane,London,England,EC2A  3ET

Lösung

04

Die  Mutter  mit  einem  Inbusschlüssel  wieder  festziehenRadoff

Unterlettenweg  1a,85051  Ingolstadt  

Lose  Mutter

2.Setzen  Sie  die  Gasfeder  in  das  Sitzkissenloch  und  die  untere  Werkzeugplatte  ein

Adresse:  No.16  Shao  Yang  North  Street  WuYi  City  Zhejiang  Province  China.

Hersteller:  Wuyi  Sailing  Leisure  Products  Co.,  Ltd.

EU-Importeur:WAITCHX

Vertreter  der  EG

UK  REP

HÄUFIGE  FEHLERANALYSE

Machine Translated by Google



Machine Translated by Google



E-Mail:  CustomerService@vevor.com

Machine Translated by Google



SGABELLO  PER  RIPARAZIONE  AUTO

Manuale  d'uso

Machine Translated by Google



Machine Translated by Google



RIPARAZIONE  AUTO  ST00L

Manuale  d'uso
VEVORE

essere  soggetto  al  prodotto  ricevuto.  Ci  scusiamo  ma  non  ti  informeremo  più  se  ci  saranno  aggiornamenti  

tecnologici  o  software  sul  nostro  prodotto.

Queste  sono  le  istruzioni  originali,  leggere  attentamente  tutte  le  istruzioni  del  manuale  prima  di  utilizzare  il  prodotto.

VEVOR  si  riserva  la  chiara  interpretazione  del  nostro  manuale  utente.  L'aspetto  del  prodotto  deve

Servizio  Clienti@vevor.com

Hai  domande  sul  prodotto?  Hai  bisogno  di  supporto  tecnico?  Non  esitare  a  contattarci:

HAI  BISOGNO  DI  AIUTO?  CONTATTACI!

01

Machine Translated by Google



QuantitàProgetto

Dado  a  coppiglia  M6*20

alprodottoreale!

VEVORE

Peso  lordo

vassoio  portautensili

410*410*130MMDimensioni  del  pacchetto

cuscino

Marca

molla  a  gas-

DESCRIZIONE  DEL  PRODOTTO

4,9  kg

02

4,3  kg

Parametri  tecnici

Accessori  standard

Accessori  standard

Peso  netto

VEVORE

1

iconaNumero  di  serie

Nota:  le  immagini  sono  solo  di  riferimento,  l'aspetto  e  il  colore  specifici  del  prodotto  sono  soggetti

4

incantatore

Machine Translated by Google



2.  Prima  di  installare  il  palo  di  illuminazione  sul  sedile,  è  necessario  rimuovere  il  cappuccio  di  plastica.

1.  Installare  il  cuscino  del  sedile,  come  mostrato  nella  figura  sottostante,  utilizzando  4  viti  M6*20  per  collegare  

insieme  il  cuscino  del  sedile  e  il  telaio  di  supporto.

04

ISTRUZIONI  PER  L'INSTALLAZIONE  E  L'USO

Machine Translated by Google



ANALISI  DEI  GUASTI  COMUNI

Dado  allentato

Indirizzo:  2  Holywell  Lane,  Londra,  Inghilterra,  EC2A  3ET

Soluzione

04

Serrare  nuovamente  il  dado  con  una  chiave  esagonale

Indirizzo:  250  bis  boulevard  Saint-Germain  75007  Parigi

Fenomeno  di  guasto Causa  del  problema

Importatore  UK:FREE  M00D  LTD

2.  Inserire  la  molla  a  gas  nel  foro  del  cuscino  del  sedile  e  nella  piastra  inferiore  dell'utensile

Indirizzo:No.16  Shao  Yang  North  Street  WuYi  City  Provincia  di  Zhejiang  Cina.

Produttore:Wuyi  Sailing  Leisure  ProductsCo,Ltd.

Importatore  UE:WAITCHX

Rappresentante  della  CE

RAPPRESENTANZA  DEL  REGNO  UNITO

Ruota  fuori

Unterlettenweg  1a,  85051  Ingolstadt

EUREP  UK  LTD

Germania

EUREP  GmbH

0XFORDSHIRE  INGHILTERRA  OX145DH
UNITÀ  2264,  1000  CK  STREET,  ABINGDON

Machine Translated by Google



Machine Translated by Google



E-mail:CustomerService@vevor.com

Machine Translated by Google



TABURETE  PARA  REPARACIÓN  DE  AUTOMÓVILES

Manual  de  usuario

Machine Translated by Google



Machine Translated by Google



REPARACION  DE  AUTOMOVILES  ST00L

Manual  de  usuario
VEVOR

VEVOR  se  reserva  una  interpretación  clara  de  nuestro  manual  de  usuario.  La  apariencia  del  producto  debe
Estas  son  las  instrucciones  originales,  lea  atentamente  todas  las  instrucciones  del  manual  antes  de  operar.

estar  sujeto  al  producto  que  recibió.  Perdónenos  que  no  le  informaremos  nuevamente  si  hay  alguna  actualización  
de  tecnología  o  software  en  nuestro  producto.

¿Tiene  preguntas  sobre  el  producto?  ¿Necesita  asistencia  técnica?  No  dude  en  contactarnos:

Servicio  de  atención  al  cliente@vevor.com

¿NECESITA  AYUDA?  ¡CONTÁCTENOS!

01

Machine Translated by Google



CantidadProyecto

Tuerca  de  fijación  M6*20

¡al  producto  real!

VEVOR

Peso  bruto

Bandeja  de  herramientas

410*410*130MMTamaño  del  paquete

almohadón

Marca

resorte  de  gas­

DESCRIPCIÓN  DEL  PRODUCTO

4,9  kg

02

4,3  kg

Parámetros  técnicos

Accesorios  estándar

Accesorios  estándar

Peso  neto

VEVOR

1

lconNúmero  de  serie

Nota:  Las  imágenes  son  solo  de  referencia,  la  apariencia  y  el  color  específicos  del  producto  están  sujetos  a  cambios.

4

castor­

Machine Translated by Google



INSTRUCCIONES  DE  INSTALACIÓN  Y  USO

2.  Debe  quitar  la  tapa  de  plástico  antes  de  instalar  el  poste  de  iluminación  en  el  asiento.

1.  Instale  el  cojín  del  asiento,  como  se  muestra  en  la  figura  a  continuación,  use  4  tornillos  M6*20  para  conectar  
el  cojín  del  asiento  y  el  marco  de  soporte  juntos.

04

Machine Translated by Google



EUREP  Reino  Unido  Ltd.

Alemania

EUREP  GmbH

0XFORDSHIRE  INGLATERRA  OX145DH
UNIDAD  2264,  CALLE  1000CK,  ABINGDON

Tuerca  suelta

Dirección:  2  Holywell  Lane,  Londres,  Inglaterra,  EC2A  3ET

Solución

04

Vuelva  a  apretar  la  tuerca  con  una  llave  hexagonal.

Dirección:  250  bis  boulevard  Saint­Germain  75007  París

Fenómeno  de  falla

Importador  del  Reino  Unido:  FREE  M00D  LTD

Causa  del  problema

2.  Inserte  el  resorte  de  gas  en  el  orificio  del  cojín  del  asiento  y  la  placa  de  herramientas  inferior.

Dirección:  No.16  Shao  Yang  North  Street  Ciudad  de  WuYi  Provincia  de  Zhejiang  China.

Fabricante:Wuyi  Sailing  Leisure  ProductsCo,Ltd.

Importador  de  la  UE:WAITCHX

REPRESENTANTE  CE

REPRESENTANTE  DEL  REINO  UNIDO

Rueda  fuera

Unterlettenweg  1a,  85051  Ingolstadt

ANÁLISIS  DE  FALLAS  COMUNES

Machine Translated by Google



Machine Translated by Google



Correo  electrónico:  CustomerService@vevor.com

Machine Translated by Google



Instrukcja  obsługi

TABORET  DO  NAPRAWY  SAMOCHODÓW

Machine Translated by Google



Machine Translated by Google



Instrukcja  obsługi

Obsługa  Klienta@vevor.com

01

Masz  pytania  dotyczące  produktu?Potrzebujesz  wsparcia  technicznego?Skontaktuj  się  z  nami:

POTRZEBUJESZ  POMOCY?SKONTAKTUJ  SIĘ  Z  NAMI!

NAPRAWA  SAMOCHODÓW  ST00LVEVOR

Firma  VEVOR  zastrzega  sobie  prawo  do  jednoznacznej  interpretacji  naszej  instrukcji  obsługi.  Wygląd  produktu  powinien
To  jest  oryginalna  instrukcja,  przed  rozpoczęciem  użytkowania  należy  uważnie  przeczytać  wszystkie  instrukcje.

zależą  od  otrzymanego  produktu.  Przepraszamy,  że  nie  będziemy  Cię  już  więcej  informować,  jeśli  w  naszym  produkcie  
pojawią  się  jakiekolwiek  aktualizacje  technologiczne  lub  oprogramowania.

Machine Translated by Google



IlośćProjekt

Nakrętka  sprężysta  M6*20

lkona

41

Numer  seryjny

Uwaga:  Zdjęcia  mają  charakter  poglądowy,  konkretny  wygląd  i  kolor  produktu  mogą  ulec  zmianie.

VEVOR

tacka  na  narzędzia

Masa  brutto

Masa  netto

Akcesoria  standardowe

Parametry  techniczne

Akcesoria  standardowe

02

4,3  kg

OPIS  PRODUKTU

4,9  kg

sprężyna  gazowa-

poduszka

Marka

Rozmiar  opakowania 410*410*130MM

VEVOR

odlewnik-

dorzeczywistegoproduktu!

Machine Translated by Google



2.  Przed  zamontowaniem  słupka  oświetleniowego  na  siedzeniu  należy  zdjąć  plastikową  zaślepkę.

1.  Zamontuj  poduszkę  siedziska,  jak  pokazano  na  poniższym  rysunku,  używając  4  śrub  M6*20  do  połączenia  
poduszki  siedziska  z  ramą  nośną.

04

INSTRUKCJA  INSTALACJI  I  UŻYTKOWANIA

Machine Translated by Google



ANALIZA  TYPOWYCH  BŁĘDÓW

Adres:  2  Holywell  Lane,  Londyn,  Anglia,  EC2A  3ET

Luźna  nakrętka

04

Koło  odjazdowe

Unterlettenweg  1a,  85051  Ingolstadt

Importer  z  UE:WAITCHX

REP  WIELKIEJ  BRYTANII

Producent:  Wuyi  Sailing  Leisure  ProductsCo,Ltd.

2.  Włóż  sprężynę  gazową  do  otworu  w  poduszce  siedziska  i  dolnej  płytce  narzędziowej

Adres:Nr  16  Shao  Yang  North  Street  WuYi  City,  prowincja  Zhejiang,  Chiny.

Przedstawiciel  UE

Przyczyna  problemu

Importer  UK:FREE  M00D  LTD

Adres:  250  bis  boulevard  Saint-Germain  75007  Paryż

Zjawisko  usterki

Dokręć  nakrętkę  kluczem  imbusowym

Rozwiązanie

EUREP  UK  LTD

JEDNOSTKA  2264,  1000CK  STREET,  ABINGDON

Niemcy

EUREP  GmbH

0XFORDSHIRE  ANGLIA  OX145DH

Machine Translated by Google



Machine Translated by Google



Adres  e-mail:  CustomerService@vevor.com

Machine Translated by Google



AUTO  REPARATIEKRUK
Gebruiksaanwijzing

Machine Translated by Google



Machine Translated by Google



AUTOREPARATIE  ST00L
Gebruiksaanwijzing

VEVOR

zijn  afhankelijk  van  het  product  dat  u  hebt  ontvangen.  Wij  vragen  uw  excuses  dat  wij  u  niet  meer  op  de  hoogte  stellen  als  er  technologische  of  

software-updates  voor  ons  product  beschikbaar  zijn.

Dit  zijn  de  originele  instructies.  Lees  de  volledige  handleiding  zorgvuldig  door  voordat  u  het  product  gebruikt.

VEVOR  behoudt  zich  het  recht  voor  om  onze  gebruikershandleiding  op  een  duidelijke  manier  te  interpreteren.  Het  uiterlijk  van  het  product  moet

Klantenservice@vevor.com

Heeft  u  vragen  over  het  product?  Heeft  u  technische  ondersteuning  nodig?  Neem  dan  gerust  contact  met  ons  op:

HULP  NODIG?  NEEM  CONTACT  MET  ONS  OP!

01

Machine Translated by Google



HoeveelheidProject

M6*20  Spalkmoer

naarhetwerkelijkeproduct!

VEVOR

Standaard  accessoires

Merk

kussen

gasveer-

gereedschapslade

410*410*130MMPakketgrootte

Netto  gewicht

Brutogewicht

PRODUCTBESCHRIJVING

4,9  kg

02

4,3  kg

Technische  parameters

Standaard  accessoires

VEVOR

ikkon

1

Serienummer

Let  op:  De  afbeeldingen  zijn  alleen  ter  referentie,  het  specifieke  uiterlijk  en  de  kleur  van  het  product  zijn  onderhevig  aan  verandering.

4

caster-

Machine Translated by Google



04

1.  Installeer  het  zitkussen  zoals  weergegeven  in  de  onderstaande  afbeelding.  Gebruik  4  schroeven  M6*20  om  

het  zitkussen  en  het  steunframe  aan  elkaar  te  bevestigen.

2.  U  moet  de  plastic  dop  verwijderen  voordat  u  de  verlichtingspaal  aan  de  stoel  bevestigt.

INSTALLATIE-  EN  GEBRUIKSINSTRUCTIES

Machine Translated by Google



ANALYSE  VAN  ALGEMENE  FOUTEN

Adres:250  bis  boulevard  Saint-Germain  75007  Parijs

Foutfenomeen

UKImporteur:GRATIS  M00D  LTD

Oorzaak  van  het  probleem

Adres:  2  Holywell  Lane,  Londen,  Engeland,  EC2A  3ET

Oplossing

04

Draai  de  moer  weer  vast  met  een  inbussleutelWielaf

Unterlettenweg  1a,  85051  Ingolstadt

Losse  moer

2.  Plaats  de  gasveer  in  het  gat  van  het  zitkussen  en  de  onderste  gereedschapsplaat

Adres:No.16  Shao  Yang  North  Street  WuYi  Stad  Provincie  Zhejiang  China.

Fabrikant:Wuyi  Sailing  Leisure  ProductsCo,Ltd.

EU-importeur:  WAITCHX

EC-REP

VK  REP

EUREP  VK  LTD

Duitsland

EUREP  GmbH

0XFORDSHIRE  ENGELAND  OX145DH
EENHEID  2264,  1000CK  STRAAT,  ABINGDON

Machine Translated by Google



Machine Translated by Google



E-mailadres:  Klantenservice@vevor.com

Machine Translated by Google



Användarmanual

BILREPARATIONSSTOL

Machine Translated by Google



Machine Translated by Google



Användarmanual

CustomerService@vevor.com

Har  du  produktfrågor?  Behöver  du  teknisk  support?  Kontakta  oss  gärna:

BEHÖVER  HJÄLP?  KONTAKTA  OSS!

01

BILREPARATION  ST00LVEVOR

VEVOR  reserverar  sig  för  en  tydlig  tolkning  av  vår  användarmanual.  Produktens  utseende  ska

Detta  är  originalinstruktionen,  läs  alla  manualinstruktioner  noggrant  innan  du  använder  den.

vara  föremål  för  produkten  du  fick.  Förlåt  oss  att  vi  inte  kommer  att  informera  dig  igen  om  det  finns  någon  teknik  

eller  mjukvaruuppdateringar  på  vår  produkt.

Machine Translated by Google



KvantitetProjekt

M6*20  Skenmutter1 4

lconSerienummer

Obs:  Bilderna  är  endast  för  referens,  det  specifika  produktens  utseende  och  färg  är  föremål

VEVOR

02

4,3  kg

PRODUKTBESKRIVNING

4,9  kg

Standardtillbehör

Tekniska  parametrar

Standardtillbehör

Nettovikt

Bruttovikt

410*410*130MM

verktygsbricka

Paketstorlek

dämpa

Stämpla

gasfjäder-

VEVOR

hjul-

till  den  faktiska  produkten!

Machine Translated by Google



04

1.  Montera  sittdynan,  som  visas  i  figuren  nedan,  använd  4  skruvar  M6*20  för  att  koppla  
ihop  sittdynan  och  stödramen.

2.  Du  måste  ta  bort  plastlocket  innan  du  monterar  belysningsstången  på  sätet.

INSTALLATIONS-  OCH  ANVÄNDNINGSINSTRUKTIONER

Machine Translated by Google



VANLIGT  FELANALYS

Orsak  till  problem

Tillverkare:Wuyi  Sailing  Leisure  ProductsCo,Ltd.

2.  Sätt  in  gasfjädern  i  sittdynans  hål  och  den  nedre  verktygsplattan

Adress:  No.16  Shao  Yang  North  Street  WuYi  City  Zhejiang-provinsen  Kina.

UKImportör:GRATIS  M00D  LTD

EC  REP

EU-importör:WAITCHX

UK  REP

Wheeloff

Unterlettenweg  1a,  85051  Ingolstadt

Lös  mutter

Lösning

Adress:  Holywell  Lane  2,  London,  England,  EC2A  3ET

Dra  åt  muttern  igen  med  en  insexnyckel

04

Adress:  250  bis  boulevard  Saint-Germain  75007  Paris

Felfenomen

Tyskland

0XFORDSHIRE  ENGLAND  OX145DH

EUREP  UK  LTD

EUREP  GmbH

ENHET  2264,1000CK  STREET,ABINGDON

Machine Translated by Google



Machine Translated by Google



E-post:CustomerService@vevor.com

Machine Translated by Google


